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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

1- My mother was a very strong, ........c..ceeveee woman who was a real adventurer in love
with the arts and sports.
1) consecutive 2) independent
3) enforced 4) subsequent

2-  The weakened ozone .......c..ccocueen. , which is vital to protecting life on Earth, is on
track to be restored to full strength within decades.
1) layer 2) level
3) brim 4) ingredient

3- Reading about the extensive food directives some parents leave for their babysitters, 1
was wondering if these lists are meant to ease .................. feeling for leaving the
children in someone else’s care.
1) an affectionate 2) a misguided
3) an undisturbed 4) a guilty

4-  He is struck deaf by disease at an early age, but in rigorous and refreshingly unsentimental
fashion, he learns to overcome his .................... so that he can keep alive the dream of
becoming a physician like his father.
1) ambition 2) incompatibility
3) handicap 4) roughness

S-  With cloak and suit manufacturers beginning to ............cc...00. their needs for the fall
season, trading in the wool goods market showed signs of improvement this week.
1) anticipate 2) nullify
3) revile 4) compliment

6-  Sculptors leave highly .................. footprints in the sand of time, and millions of

people who never heard the name of Augustus Saint-Gaudens are well-acquainted with
his two statues of Lincoln.

1) insipid 2) sinister
3) conspicuous 4) reclusive
7-  To avoid liability, officers were told that they need to .................... closely to established

department rules and demonstrate that probable cause for an arrest or the issuance of a
summons existed.

1) recapitulate 2) confide

3) hinder 4) adhere
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark the correct choice on your answer sheet.

The first organized international competition involving winter sports .................... (8)
just five years after the birth of the modern Olympics in 1896. Known as the Nordic
Games, this competition included athletes predominantly from countries such as Norway
and Sweden. It was held eight times between 1901 and 1926, .................... (9) all but
one time. Figure skating was included in the Olympics for the first time in the 1908
Summer Games in London, .................... (10) the skating competition was not actually
held until October, some three months after the other events were over.

8- 1) was introducing 2) was introduced
3) introduced 4) has been introducing
9- 1) with Stockholm hosting 2) and Stockholm hosting
3) that Stockholm hosted 4) Stockholm hosted
10- 1) despite 2) although
3) otherwise 4) notwithstanding

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The origin of statistics and its development has been guided by the development of
nation-states. Thus, the major developments in statistical infrastructure have come
about through war or preparations for war. Examples over the centuries are: William
Petty being asked to assess the power and wealth of the English crown vis-a-vis the
French State in the 16™ Century; the term ‘stat-istics’ itself comes from preparations
for war between Prussian statelets in the 19" century; Keynes’ methods of national
accounting won out over more logical organizations because it was an appropriate
method of managing the British debt during the Second World War; and so on.

The modern interest in reporting on social progress (or the lack thereof) can
probably be attributed to people like Quetelet, a Belgian statistician working in the
middle of the nineteenth century. Although he was eventually concerned with the
development of an administrative system required by the embryonic welfare states, at
first he was simply concerned to document the downside of industrialization and in
particular the extent of ‘criminality’. Criminal statistics have therefore been a crucial
part of the state’s attempt to control its population. It is not surprising that there are
frequent arguments about criminal statistics: the most recent was the call by the
Statistics Commission for an independent body to publish criminal statistics.

11- The underlined word “assess” in paragraph 1 is closest in meaning to ................ .
1) limit 2) trust 3) employ 4) measure
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12- The underlined word “its” in paragraph 2 refers to ................ .
1) population 2) statistics 3) attempt 4) the state

13- All of the following countries are mentioned in the passage EXCEPT .................... .
1) Russia 2) Belgium 3) England 4) France

14- According to paragraph 2, Quetelet’s initial motivation was to ................ .
1) help the development of welfare states
2) study the extent of criminality in the 1900s
3) record the disadvantages of industrialization
4) develop an administrative system for the state

15- According to the passage, which of the following statements is true?
1) Criminal statistics first emerged in the 16th century.
2) The word “statistics’ originates from warfare logistics.
3) There are a limited number of arguments about criminal statistics.
4) The role of criminal statistics in population control is insignificant.
PASSAGE 2:
The limitations of statistics as applied to medical problems are well indicated in the
following words of Arthur Bowley, the author of one of the best modern treatises on
elementary statistics. Speaking of the want of recognition by statisticians themselves
of the limitations of their work, he says: “At best they can measure only the numerical
aspect of a phenomenon; while very often they must be content with measuring, not
the facts they wish, but some allied quantity. We wish to know, for instance, the extent
of poverty, its increase or diminution: we cannot define or measure poverty, and we
cannot even count the number of the poor; all we can do is to state the number of
officially recognized poor people, and add perhaps some estimates from private
sources; but this gives us no clue to the intensity of poverty in individual cases. Or we
wish to obtain statistics of health: all we can measure is the death-rate, and average
length of life—very different matters. The statistician’s contribution to a sociological
problem is only one of objective measurement, and this is frequently among the less
important of the data; it is as necessary, however, to its solution as accurate
measurements are for the construction of a building.” Now this is quite true but the
time has assuredly passed when it is necessary to justify the skillful employment of
statistical methods for the elucidation of medical problems. Certain it is that without
such help medicine, as a science, could never have achieved even its present degree of
precision.

16- According to the passage, Arthur Bowley ................ .
1) was mainly interested in the extent of poverty
2) was the first writer to discuss medical statistics
3) wrote a great essay about elementary statistics
4) was chiefly concerned with health statistics

17- According to the passage, instead of measuring the facts they are eager to know,

statisticians are usually content with measuring ................ .
1) quantities associated with those facts

2) qualities directly related to those facts

3) the limitations of their own work

4) completely irrelevant phenomena
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19-

20-

According to the passage, objective measurement usually ................

1) plays a minor role in terms of data gathered about a social problem

2) goes completely unnoticed by statisticians studying a social problem

3) does not contribute to the solution of a social problem

4) involves areas such as construction and housing in social sciences

According to the passage, which of the following statements is NOT true?

1) It is not possible to exactly define poverty or count the number of poor people.

2) The only way to gather data about social phenomena such as poverty is through public
sources.

3) Death-rate and average length of life differ greatly from statistics of health as such.

4) Arthur Bowley believed that statisticians were unaware of the limitations of their work.

The passage provides sufficient information to answer which of the following questions?

1) How can statisticians make up for the shortcomings of their field of work?

2) What is the definition of medical statistics?

3) When was the term medical statistics first used?

4) Has statistics helped improve the accuracy of medicine in any way?

PASSAGE 3:

Statistical Reasoning is a specific, albeit relevant, instance of Approximate Reasoning
or Reasoning under Partial Knowledge. Its distinctive features include: (1)
applicability to “collective phenomena™ (namely phenomena which are characteristic
of a set of observational instances, rather than of a single one); (2) reference to one or
more “variables™ as observed (or observable) on different “statistical units™ (statistical
data); (3) presence of several sources of Uncertainty, related to both the observational
setup and the models utilized for analyzing the data; (4) uncertain conclusions of the
reasoning process. [1]

In the past century’s literature, a few theoretical frameworks for developing
Statistical Reasoning have been proposed. These range from the classical Inferential
Paradigm, including the Bayesian approach to the Descriptive-Exploratory Paradigm
of the French school of thought usually referred to as “Analyse des Données,” to the
more recent Statistical Learning Paradigm. However, all of the above frameworks do
not allow for a complete treatment of the various sources of Uncertainty affecting the
Statistical Reasoning process. [2] A broader view is taken by the Bayesian-
subjectivistic approach which generalizes the use of probabilistic tools for managing
uncertainties related to modeling assumptions (the so-called “prior information™). [3]
Then, the computation of posterior probability distributions, via the Bayes formula,
allows the control of the uncertainty associated with the conclusions of the reasoning
process. [4] In spite of the increasing utilization of this approach in many applicative
fields, still the need for a more inclusive treatment of Uncertainty in Statistical
Reasoning is widely felt, by both theoretical statisticians and researchers in the various
substantive domains. The main sources of Uncertainty that appear to be overlooked, in
this connection, are “Imprecision” and “Vagueness®.

The underlined word “substantive” in paragraph 2 is closest in meaning to ............. .
1) practical 2) inconsequential
3) ambivalent 4) dexterous
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According to the passage, which of the following paradigms is being increasingly

employed in statistical approaches to uncertainty?

1) Descriptive-Exploratory 2) Bayesian-subjectivistic

3) Statistical Learning 4) Classical-Inferential

According to the passage, what is the relationship between Statistical Reasoning and

Reasoning under Partial Knowledge?

1) The former is synonymous with Approximate Reasoning while the latter is a scientific
discipline.

2) The former is an abstract concept whereas the latter is an academic discipline.

3) The former is a specific but pertinent example of the latter.

4) The former is a broader area encompassing the latter.

Which of the following words best describes the author’s tone in the passage?

1) Ironic 2) Biased 3) Humorous 4) Impartial

In which position marked by [1], [2], [3] and [4], can the following sentence best be

inserted in the passage?

In fact, the main source of Uncertainty possibly investigated in the mentioned contexts is

“‘randomness’’ (quite often limited to the ‘‘data generation process’’ managed by means

of appropriate probabilistic models).
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